NEXCO Supex 100L (M5 AEZSH E=8)
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NEXCO Supex 100L (M5 AEZSH E=8)

1. it 2 Z32|E HEA (MFH4H PC)

Z32|E vf&E

W/C | S/A cte 2 8 = 2F (kg/m’) Slump 27| | Z3HA4|
T+ B
(%) | (%) W C S G (mm) (%) | (%)
Plain 64.7 | 49.0 | 220 | 340 | 824 867 180 1.8 -
51.2 | 48.0 | 174 | 340 | 845 926 180 48 | 0.8
Supex 100 L
49.7 | 475 | 169 | 340 | 851 933 180 49 | 0.9
C:EZEMEAS, S: BB (RIAAD, G: 25mmafAd
2. Al &l & 1}
Supex 100L
Al | &t 5 3 A (KSF 25600 Z)
0.8 (%) 0.9 (%)
a4+ 8 (%) 18 o4t 20.0 22.0
2|9 2o H| (%) 60 0|35} 49 1 46.2
= Z -30 ~ +120 +30 +35
S AAZFe| XH(min)
g | -30 ~ +120 +40 +30
3y 135 O| At 140 144
o=z ol H[(%) 7 125 O] 4t 131 136
282 115 o] &t 121 130
Zol|sto| H[(%) 110 0|5} 08 98
=& 8slof chst A&t
80 O] &t 88 88
At S &R A= (300cycle)
M| Ztz]| 2 (kg/m) 0.3 o[ st 0.01 0.01
&3 T L&A (nm) 60 O] 5t 30 25
BA|IH 352
27| 2Fo|t 51 2H(%) +1.50[ 0.8 0.5
N —oioar S 2N Amin)] I =ZE (Mpa)
o = - =o|d
-+ = SEHITEMmm) | 371325 (%) olHI (o = Z =z 30l 72l ogel
= 7] [e02%| = sl [eox| AHI(%) | Z& | 3 = | %8¢
Plain 180 - 1.8 1.6 100 6:30 | 750 | 9.2 [ 17.0 | 30.9
Supex 100L
oxX0.8%) 180 150 | 4.8 | 4.0 49.1 +30 | +35 | 12.9 | 22.3 | 37.4
Supex 100L
(CX0.9%) 180 155 | 4.9 | 4.4 43.2 +40 | +30 | 13.3 | 23.1 | 40.2




